Lesson 1.2: Radicals and Operations Unit 1: Radicals

Practice Run

Simplify the following and express each answer as an exact value.

. —34360

2. (-4/12)(-3V2)

3. /5(/8-3)

4. (2/2+3/5)2/7+3/3)

5. (V/3-y2)2/2+3/3)
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Unit 1: Radicals Lesson 1.2: Radicals and Operations

’/‘ Compare your answers

Simplify the following and express each answer as an exact value.

1. —3360
=—3,/36-10
=—3,62+10
=—3.6/10
=—18,/10

2. (-4/12)(-3/2)
=(—4--3)(/12+y2)
=(12)(/12+2)
=12/24
=12/4-6
=12/2%+6
=12-2/6
=24,/6

3. V/5(/8-/3)
=(/5+v/8)+(/5+(=/3))
=(/40)+(=/15)
=(/4+10)+(=/15)
=(y/22+10)+(=/15)
=2/10 - /15

4. (2/2+3/5)(2/7+3/3)
=(2y2+2y7)+(2/2+3/3)+(3,/5.2/7)+(3/5:3/3)
=(4/14)+(6/6) +(6,35)+(9/15)
=4./14 +6,/6 + 6,35 +9.,/15

5. (V3-V2)(2/2+3/3)
=(/32/2)+(/3:3/3)+((=/2)-2y/2)+ (=2 -3/3)
=(2v/6)+(3/9)+(-2/4)+(-36)
=(2/6)+(3/3*)+(-2/2*)+(-3/6)
=(2/6)+(33)+(=2+2)+(=36)
=(2/6)+9—-4+(-3/6)
=2/6-3/6+5
=—J/6+5
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